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s in CutV I = s i n u . w s v t c o s u . s i v

C o s (utVI = c o s u . c o s ✓ - s i n v i . s i n V

s i n µ-V I = s i n a . c o s t - v l t c u s u . s i C-4
C o s (u-u) = c o s u . c o s Ev) - s i n u . s i n C-V)

⇒

S i n(U-✓I = s i n u . w s V - c o s u . s i n ✓

( u s (U-V) = c u s u . c o s v + s i n µ . s i n ✓

s i nµ I v ) = sina.wsvtcosu.si vIcoslutvl-cosu.cosv-
sinu.si



sin

❤

a) = s i n a .w s u t w s u . s i n a

c o s (2a) = c o s u . w su-sina.sinu-
sinyul-2.sinu.ws.v
e/cosl2u1=cos#-
sinu/siiutcoiu

= , ⇒

cos@ut:(I-sink)-svin = I - 2 s i n a

c o s (2a) = Coste-(I-coin) = 2c o i n - I
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